: 1 sk €

a=2+8x(3-1)=18 (1
b=8-(4-1)-3

4444 — (1444 + 1500) = 1500 (2
(587 +13)—600=0

12 3k g€

M = (27894 — 1735+ 4427) — (27891 + 4427 —1735) = 27894 - 27891 =3 (*

¥

N =(25894 +3172) + (4106 —3172) = 25894 + 4106 = 30000

P =263421+4102—-1102 = 263421 + 3000 = 266421 (*

R =82453 x 1001 — 82453 = 82453 x (1001 — 1) = 82453 — 1000 = 82453000 (*

¥

O = 28894—(894-365) = 28894 — 894+ 365 = 28000 + 365 = 28365

Q = 854321 x 99 + 854321 = 854321 x (99 + 1) = 854321 x 100 = 85432100 (*

(
(
(
T=131-(13x(4+5+1)=131-13x9=131-117=14 (*‘
(
(
(-Ic

S =78945 x (57 —47) =78945 x 10 = 789450
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